
ชื อ: 　　　　　　　 วันที : 　　　　　　 คะแนน: 　　　

สี จํานวนเต็ม ลําดับการดําเนินการดว้ยวงเล็บ

(1 + 5) × 4 − 3 = 11 + 8(1 − 3) =

(3 ÷ 1 + 6) × 8 = (11 + 7) × 1 + 1 =

(22 ÷ 2 − 6) × 10 = 2 − 2(2 + 11) =

7 − 7(2 − 5) = (11 − 1) × 7 + 4 =

(55 ÷ 5 + 11) × 8 = (11 − 5) × 6 + 9 =
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ชื อ: 　　　　　　　 วันที : 　　　　　　 คะแนน: 　　　

สี จํานวนเต็ม ลําดับการดําเนินการดว้ยวงเล็บ

(1 + 5) × 4 − 3 = 21 11 + 8(1 − 3) = (−5)

(3 ÷ 1 + 6) × 8 = 72 (11 + 7) × 1 + 1 = 19

(22 ÷ 2 − 6) × 10 = 50 2 − 2(2 + 11) = (−24)

7 − 7(2 − 5) = 28 (11 − 1) × 7 + 4 = 74

(55 ÷ 5 + 11) × 8 = 176 (11 − 5) × 6 + 9 = 45
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